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( U(Ist Sm. )-Statistics-G/(GE—I.1Chg)/(C1HG)/CBCS]

2021

STATISTICS — GENERAL
(C1HG)
Paper : GE-1.1 Chg
Module : 11
Full Marks : 40

Candidates are required to give their answers in their own words
as far as practicable.
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e -5
- A5le 2Tsa Ted v | %@
21efS ©red B (@0 ?
(A) wIred #/fRfs HiKFFee (B) ¥kaMmea
(C) wwg Sfmitaa fAraiis (D) SIFeaHd Gesiei |

@ @fa (ATE TywE W oy s =3y
(A) Fr=foa (B) @z
(C) wTerEd (D) waiferss sifameant @t |

2, 6,9, 12 AT WG TG Zo]—

(A) 4 B) 5

) 6 (D) @GR 7|

T @6 veraa “ifaca faeieaa elfels FH-a<4ita 22 8 23, ©td @ FHHa W=l 10 27 99 % FH-3

orq
(A) 45 (B) 5.5

©) 6 (D) 8.51

Gf5 faeiet, 16, 14, x, 25 @98 21-47 W13 9T &1 19| €2 fqees x-aq M+ 209
(A) 17 (B) 18

(C) 19 (D) 201
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991

441 T 2y = Sx, @A x99 (@fF ¢ STeTedT G FAFE 1 998 0.4 | y-99 (o ¢ wreredn v 2@

(A) Il (B) 0,1
(C) 25,26 (D) (BTG =73 |
11 1
L=, =,..,— -3 o3 o 72
2°3 n
n 2
SR ®
2n n
© e ®a

Gf5 sifamean e, x-93 @ 93k (©E IWHE 10 G2 50% | €3 oAfiren e (5 - 2x)-93
(SWSI B

(A) 20 (B) 15
(©) 10 (D) TR 77 |
54 (= 7oy ?

(A) A E-1 (B) A=E-1
(C) A=E+1 (D) A=Ex11

il g-99 Se" (Lagrange’s Interpolation) 7,[@1% e 04

(A) BqE W@ﬂ“’ﬁi’ ST (Equispaced arguments only)

(B) wql@ Wﬁmﬂ“ﬂ"ﬁ ST (Unequispaced arguments only)
(C) (A) 93¢ (B) Teq

(D) CPICTIBIR =7 |

et - 9
(- (I 75 2Td Ted s | ox30
@I @3 2iferm #ifzocey Rerata g vede = 24 93 TOI 59T = 42 2@ T4 WA 203
(A) 30 (B) 34
(C) 33 (D) 361
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SR 1 FRAFE AT TG T Al ¢

(A) n’ (B) n
(C) n? (D) (PGB 77 |
ol ¥fb «I9F R a R b(a > b)-99 G AAEAY G (Arithmetic Mean) €38 QTNEIT T
(Geometric Mean) IY&CE 5 d3R 4 2061, a '@ b-49 V4 &(J
(A) 9¢e8 (B) 9 €2
(C) 8¢2 (D) 8¢ 3|
381 (@A 9T AR 25 MNTF 1@ 44 | 5407 @1 (o7 76 S 34 '€ 46-(F Tera=Ie 28 3% 42 (1< BAE,

Sizte offaws o W 25
(A) 45.6 (B) 42.4

(C) 434 (D) 44.4

el 1,5, 6-49 (eShiT &+
(A) 52% (B) 54%
(C) 53% (D) 56% |
Y| 4, 8,10, 12, 16-497 75 AN 2&
(A) 8 (B) 6
©) 4 (D) 101
va| fIufEfee fereme sgs a2

THel | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
offgmen | 14 26 40 53 50 37 25

(A) 54.31 (B) 55
(C) 54.51 (D) 561

| EfEe Reem-aa cFia ieanesE-a s 2a

€& [ 10-14 | 15-19 | 20-24 | 2529 | 30-34 | 35-39 | 40-44
offeoant | 5 8 10 18 16 6 3

(A) 28.5 (B) 27
(C) 284 (D) 281
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o1 431 T, 9 AAfaeay Fuse—

sl | 3gam | SD
1 | 60 |9
I | 9 |12
Foy] FA1F SD 27F
(A) 49.1 (B) 49.6
(C) 50 (D) 52

0| 7-Ge FGAIMI S @8 G-93 A-93 #Afpiran fwame ¢

S 132(28|47|63|71|39]60 |96
G|19]31|48|53|50|67|62|40

(@ Ao @ giaaifas e
(A) G (B) S @3 G
(I (D) (T2 77 |

| fasfEfee s Rewm-az efetaay waz-a w9 =3

9 | 0-10 | 10-20 | 20-30 | 30-40
G |1 3 4 2

(A) —0.1975 (B) 0.1975
(C) —0.25 (D) 0.251

281 22 ¢ fFer NS 2-aF AT TG 1€ 16 | 5-aF ATATF Qs @ Forg Iea-ag e 203 TG0
(A) -1, 19 (B) -2, 14
(C) =2, 19 (D) 2, 191

20| fICHTE Sr@ee g &Tel 6, V11.5 -99 W 25

X 11 12 13 14
Jx [3.317 | 3.464 | 3.606 | 3.742

(A) 3381 (B) 3.481
(C) 3.581 (D) 3.3911
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28| fwfeie a9 y-93 @ FW 7Ne [T O 74, x = 7-99 G,

3041519

6[5]|-2130
(A) —12 (B) —11
(©) -10 (D) - 91

3@ | #lalg-a9 Interpolation 3 &TI9 T, f(x) = ? (¥4 x = 0)

x |-1]-2[374
fx)y[-1]-9[11]69

A) 1 B) 2
©) 3 (D) 41
[English Version|

The figures in the margin indicate full marks.
Group — A
Answer any five questions. 2x5
1. Which one is the source of primary data?
(A) The Statistical Abstract of India (B) Newspaper

(C) Report of enquire commission (D) The Census of India.

2. From which diagram Median can be calculated?
(A) Bar diagram (B) Line diagram
(C) Histogram (D) Ogive.
3. The Geometric mean of the number 2, 6, 9, 12 is
(A) 4 B) 5
) 6 (D) None of these.

4. If the width of each class-interval of a grouped frequency distribution is 8, then the lower class-boundary
of the class whose mid-point is 10 is—

(A) 45 (B) 5.5
©) 6 (D) 8.5.
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5. If the AM. of 16, 14, x, 25 and 21 be 19, then x is
(A) 17 (B) 18
©) 19 (D) 20.

6. If 2y = 5x and A.M. and GM. of x are 1 and 0.4 respectively, then A.M. and GM. of y is

(A) equal (B) 0,1
(C) 25,26 (D) None of these.
. 11 .
7. Harmonic mean of 1,—,—,...,— is
2°3 n
n 2
(A) — B) —
n+1 n+l
©) n(n+1) (D) 1

8. If AM. and C.V. of x are 10 and 50% respectively, then variance of (5 — 2x) is
(A) 20 (B) 15
(©C) 10 (D) None of these.
9. Which one of the following is true?
(A) A= E-1 (B) A=E-1
(C) A=E+1 (D) A=ExI.

10. Lagrange’s Interpolation formula deals with

(A) Equispaced arguments only (B) Unequispaced arguments only
(C) Both (A) and (B) (D) None of these.
Group — B
Answer any ten questions. 3x10

11. For some symmetrical distribution O = 24 and Q5 = 42. Find median.
(A) 30 (B) 34
(C) 33 (D) 36.



12.

13.

14.

15.

16.

17.

18.

Find the A.M. of n numbers :
1, 3,5, ... , 2n-1)

(A) n’
(C) n2

For two positive numbers a and b (a > b) the arithmetic mean and geometric mean are 5 and 4

respectively, The value of ¢ and b are

(A) 9 and 8
(C) 8 and 2

The A.M. of 25 observations is 44, later on it was reported that two of the observations 34 and 46 were

(7) (U1t Sm.)-Statistics-GI(GE-1.1Chg)/(CIHG)/CBCS )

(B) n

(D) None of these.

(B) 9 and 2

(D) 8 and 3.

copied as 28 and 42. The corrected A.M. is

(A) 45.6 (B) 42.4
(C) 434 (D) 44.4.
The C.V. of 1, 5, 6 is
(A) 52% (B) 54%
(C) 53% (D) 56%.
The S.D. of 4, 8, 10, 12, 16 is
(A) 8 (B) 6
©) 4 (D) 10.
The Median of the following data is
Height | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
Frequency | 14 26 40 53 50 37 25
(A) 54.31 (B) 55
(C) 5451 (D) 56.
Mode of the following distribution is
Weight | 10-14 | 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44
Frequency 5 8 10 18 16 6 3
(A) 285 B) 27
(C) 284 (D) 28.

Please Turn Over



( U(ist Sm.)-Statistics-GI(GE-1.1Chg)/(CIHG)/CBCS | (8)

19. Suppose a distribution described as follows :

Samples | Size | SD
I 60 |9
I 90 | 12
SD of the combined sample is
(A) 49.1 (B) 49.6
(€) 50 (D) 52.

20. The runs of two batsman S and G are given as follows

S 132(28|47|63|71|39]60 |96
G|19]31|48|53|50|67|62|40

Which batsman is more consistent?
(A) G
© S

(B) S and G

(D) None of them.

21. The value of skewness for the following distribution is

Income 0-10 | 10-20 | 20-30 | 30-40
No. of persons | 1 3 4 2
(A) —0.1975 (B) 0.1975
(C) -0.25 (D) 0.25

22. If the first and second moments about 2 are 1 and 16 respectively, then first and second moments about
5 are
(A) -1, 19
() -2, 19

(B) -2, 14
(D) 2, 19.

23. Using Newtons formula of interpolation, the value of +/11.5 is, where

x 11 12 13 14
Jx [3317 | 3.464 | 3.606 | 3.742

(A) 3381
(C) 3.581

(B) 3.481
(D) 3.391.
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24. The value of y at x = 7 is, where

341519

6[5]|-2130
(A) —12 (B) —11
(C) — 10 (D) —9.

25. Using Lagrange’s Interpolation formula f(x) = ? (when x = 0)

x |-1]-2[374
foy[-11-911]69

A) 1 (B) 2

© 3 (D) 4.



